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[# ZE] C main
C
C
[ 552371
[ 1TP312 [ JA [ 11673-1891 2005 03-0090-04
C printf* %d” x
scanf “ %d" x scanf
X
" " “ & scanf* %d” &x printf
X
Scanf printf
(1) scanf () K]
I. scanf
ab
C scanf “ %d %d” a b scanf
Turbo C2.0 400 “ %d %d" &a &b
II.
BIOS DOS scanf %d %d" &a &b
34
C C 111. scanf
char str 10 scanf“ %s" sir scanf
“ %s" &str
1 BER— (2) printf O F#
I.
fmain int i=2 printf * %d %d %d” i++ i++
int x i
scanf “ %d" x / % * /
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3 C 91 -
233 turbo printf* %d” add x y
c2.0 printf main add
i—— i++ add
1++ main add
I+ i+ i—— 212 turbo ¢2.0
function prototype
++ —
II. ++ + 1++ printf
i=2 printf* %d” i++ + i++
i++ i 2 i main
i++ 3 243 5 float a b int ¢ scanf * %f %" &a &b
c=max a b / max ® /
=2 j= i++ + i++  printf* %d” j printf “ %d” ¢
i max  float x float y /
242 j max */
4 float z Z=X>y Xy return  z
z max
2 BR#EiRZ ab
1.5 25
# include <stdio.h> )
main
char s1 10 s2 10 main
scanf * %s” sl int max float x float y / %
gets  s2 ny
printf* %s” sl printf* %s” s2 float a b int o
gets 52 scanf * %f %f" &a &b
scanf stdin stdin c=max  a b /% max iy
gets gets stdin printf * %d" ¢
gets 52 stdin max float x float y e
fflush stdin gets  s2 nax ny
float z Z=X>y Xy return z
3 ﬁﬂ%ﬁl%i 4 ﬁm%ﬂéi%m
main char * streut char *s int m int n
float x y scanf “ %f%f" &x &y Jx iy
printf* %d” add xy / % add main
*/ static char s £ Good Morning
float add float x float y / char # streut *p
add */ p=strcut s 3 4 / *® streut ®/
return x+y

printf “ %s” p
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char * strcut

char substr 20
register int 1

for 1=0 i<n i++

char *s

int m

* /

int n

substr 1 =s m+i-1

substr 1 ='max=%d min=%d” max min

max min
FHEIRE
char p char *s2 / %
* /
void main
char  # sl ch / %
* /
sl=p / %
ch= *sl “ abed”
printf* %c” ch
char p char *s2 / %
* /
return s2 1
char  * sl
sl
p
ch= =#sl1 " abed”
sl=p
main
int max int int / %
* /
int  kp /%
*/
int abec
p=max /
scanf* %d %d" &a &b
c= *p ab / %

*/

*/

sl=p

sl=p

*/

printf* max=%d” ¢

max int x inty /%
%/

int z

if x>y z=X

else 7=y return z
B WEIRIS

void main int argc char * argy

char ¢
FILE =fpl = {p2
if arge =3
printf “ be lack of parameters”
exit 1
if fpl=fopen argv 1 “ tb” = =NULL
fp2=fopen argv 2 “ w+b” = =NULL
printf “ can not open the file exit 1
while feof fpl
c=getc fpl putc ¢ fp2
fclose fpl fcolse fp2
while  feof fpl
feof 0
feof
void main int argc char * argy
char ¢
FILE =fpl = {p2
if arge =3
printf “ be lack of parameters”
exit 1
if fpl=fopen argv 1 “ tb” = =NULL
fp2=fopen argv 2 “ w+b” = =NULL
printf “ can not open the file exit 1

while 1

c=getc fpl
if feof fpl putc ¢ fp2
else break
fclose fpl fcolse fp2
C

feof



a+=b++ / % a a ®/
C printf* %d” a
main
int ¢=20 fun ¢
a+=c++ / a a*/

printf* %d” a

int a=5 / a */ 30 25
fun int b / % */
static int a=10 /
®/
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Mistake Apting to Appear when the Function is used in Language C

JIANG Chun-lei' YANG Shuang® YUE Fu-giang’, LIU Hui®
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Abstract C language procedure is totally made up of function. Except main function main function that procedure
must include and language storehouse function that itself offers  users can also define a lot of one’s own function according
to their needs. Transfer other function through main function the function of the storehouse — user’s self—defining function
transferring each other between other functions finish the corresponding procedure function. C language procedure is generally
by a large amount of small function instead of forming by a small amount of great function  can let every part sufficient
independence each other so  and the task is single . The mistake apt to appear has been analyzed at the time of the
application of function in C language in this article.

Key words Variable Function Function is transferred Parameter The parameter is transmitted Returning value



